Exit Ticket 15 - Plotting straight lines from a table of value

Correct Answer: ABCD

This is the table of values for y = 3x — 1 )
Explanation:

X (=20 =T 0 RO URR TR
y SO B I i I TR

What should replace the star?

A 31 B s
A 4 B 8 |

Correct Answer: ABCD
This is the table of values for y = 4 — 2x .
Explanation:

X0 =2 DAL 0 2 I
y 6 2 R

What should replace the star?

A -8 | 4
A 4 B 8 | i,

Correct Answer: ABCD

AQAZ
Explanation:
WhICh 0' these mints ”es on) ‘he liney & _Zx ? --------------------------------------------------------------------------
A B (o] D
4,8) (-4,-2) (-4,8) (4,-2)
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